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(1) KNOWLEDGE RELATING (1) ST F1 Haielt

ACCOUNT
1.  Trial Balance discloses : 1. T Y HIET T ¢ -
Ay —FBrrorsof Omission —— (A) wZ N # ogiedl
(B) Errors of Entries (B) Wfafte grereit swyrfgal
(C) Errors of Principles (€ Hsit<e swgfsar
(D) Errors of Balances (D) St (I) =+ erggfgar
2. A Trial Balance is a proof of : 2. OIS YA ¥
(A) Arithmetical accuracy of account (A) @ Wt STHTOE &t <l
(B) Honesty of accountant (B) @M i $HFERI
(©) Accuracy of books (C) &Il YHar &l
(D) Honesty of book keeper (D) YU i MR
!
3.  Which of the following errors is not 3. 1 & 9 &9 @t SRIfGAT T g ke
disclosed by Trial Balance ? T BRI R ?
(A) Compensating Errors (A) afage sryfgar
(B)  Errors of Principles (B) it eryfgar
(C) Errors of Omission (C) Yo gt sgyfgar
(D) All of these (D) w7 @t
4. When a entry is made in Journal : 4. 9 o H giafe s 9wl Qo
(A) Assets are listed first. (A) e sRemafadl &1 giaem fwar s
2l
(B) Accounts to be debited listed first. (B) T4 @ # T4 HTN & TR "R
(C) ' Accounts to be credited listed first. (C©) T~9 @[ = 5 FE 8 ST T5
fora sman #1
(D) Accounts may be listed in any (D) Teslt +ft @ =t vge fomn st 2
order.
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Due date for bill written on 1%t July for
3 months will be :

(A) 3" September
(B)—4th October
(C) 5% November
(D) 15t October

Voluntary liquidation of a company
related to :

(A) Director’s voluntary liquidation
(B) Members voluntary liquidation

(C) Liquidation by members and
creditors

(D) Liquidation by director and debtors

The maximum number of people in Joint
Venture can be :

(A) 10
(B) 20
(C) 50
(D) unlimited

According to going concern concept, a
business entity is assumed to have :

(A) along life

(B) ashort life

(C) avery short life
(D) a definite life

T S8 i i w18 % fore, forma w7e faret =t
T el B

(A) 3 faamr

_ (B) 4 ¥ o

(©) 5w
(D) 1 3R

FHU T ST W GG § IR e ©

(A) eETeTh! Wl ¥ gE
(B) WEHl T WSt § WA
(C) W o SRRl i =l ¥ I

(D) Wl T SRR i Wwsl A FHIT

G Qred ¥ st st sifteran de Bt
®:

(A) 10

(B) 20

(C) 50

(D) oTeifha

o] SR STAURI & TR I WA Sl
2 for oTaE™ 1 i

(A) Srefere S g

(B) STEUSRIGI Sia B
(C) fd STeTeIet i
(D). fafeer sfter g
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9.

- ©

10.

11.

12.

Cheques is : 9.
Business format

(A)
(B)

Banking Document

Bill oﬁxch_ange
(D) None of the above

Which of the following equation is related
with dual aspect concept ?

(A) Total Assets=Total liabilities

(B)

Total Assets= Capital + Outsiders
liability

(C) Capital =Total Assets —Outsiders

liability
(D) Al of these
Single Entry system is :
(A)
(B)
(C) Scientific

Complete

Incomplete and Unscientific
(D) Arrange

Pass-book debit balance show :
(A) Amount Deposit in Bank
(B)
(©
(D)

Bank Overdraft
Bank Interes_t

Bank expenses

10.

11.

12.

AR T y
(A) T AR g9
B wAEFTE™
(C) Tafma wrer oo
(D) =99 4 HE Tl

HIT 91 gHR fg-gafta sreryron § geig
?7?

(A) P GuRE=F <fae
(B) 1 Hufwal =sft + a1 Jard

(©€) Yot =7pa1 Sufar—amr Soand

(D) =T § uft

THET orEl IUIE © ¢
(A) o

(B) 31Ul & TR
(©) aifrh

(D) =afd

- <1 W Y geiiar
(A) S 5 ufyr

(B) & srfufawd

(C) %=

(D) & =g
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13. Expenditure for getting license for
running cinema hall is :

(A) Revenue

- (B) Capital
(C) Investment
(D) Adjustment

14. Which of the following is a Personal
Account ?

(A) Bank Account

(B) Rent Account

(C) Purchase Account
(D) All of these

15. Capital Account is :
(A) Personal Account
(B) Impersonal Account
(C) Real Account

(D) Nominal Account

16. Pass Bookis:

(A) Copy of Book transactions in the
Cash Book

(B) Copy of customer’s account
prepared by the bank

(C) Copy of business receipts and
payment

(D) None of the above

13.

By st

14.

15.

16.

faamn g wom & fou TRE W T R

(A) TR

() fafeEm
(D) GHTEASH

o § w9 W1 o safTa e § ?

(A) &% S
(B) Tortrn @@
(C) A awl
(D) W a+t

tfx‘ﬁ'{gl?ﬂ%

(A) =afETa @
(B) sreafERIT @
(C) arafass @l
(D) I = @Il

T TFE Y

(A) U =@ ¥ qF grel reRrl W
THA

(B) e gRI U % IR T WA i THA

(C) =Tau™ I It W& WA & Thd

(D) s ¥ | w0 T
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17.

18.

19.

20.

Which is not a Subsidiary Book ?
(A) Purchases Book

(B) Sales Book

{C) Bills Receivable Book

(D) Assets Book

In which Assumption Business is totally
separate and free from the businessman ?

(A) Accounting Owned Assumption’
(B) Accounting Entity Assumption
(C) Going Concern Assumption

(D) Accounting Period Assumption

Shobhit and Agam were partners sharing
Profit/L in the ratio 3 : 2. Nikhar was
admitted for 1/5 of share in P/L. The
New Profit/L Sharing ratio will be :

(A) 12:8:5
(B) 8:12:5
) 2:2:1
(D) 5:8:12

Record is maintained in purchase book :
(A) After deducting trade discount
(B) After adding trade discount

(C) After adding cash discount

(D) After deducting cash discount

17. TRIES THF T © ¢

18.

19.

20.

(A) HAIW
®) FEiTm
(C) v foos g
(D) wufy g

SR 9 Wl @ 7ol w9 @ yuw ¥ 9%
forg W W el &2

(A) rElF @nfia
(B) <@l sifad
(C) el SFIETE T A=A
(D) <@i®a smafy

wifia ok s WERR & St wv-wf &=
faMe3: 2% 99 A w0 1 Fer 9
1/5 9w ¥ fou wd ¥ v fean
ATY-TIH T AT STIT 1

(A) 12:8:5
(B) 8:12:5
© 2:2:1
(D) 5:8:12

maﬁﬁﬁ@fmm%:
(A) HTIRE T T
(B) AR e S
(©) TH FE SHGH

(D) % g2 R
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21. In case of personal account, the rule of  21. SafFTa T & deiu ¥ s § wfafe ww

Journalising are : EZRERLE S
(A) Debit the receiver and credit the (A) W HE I h WA H Sfae a9
—_— —— S g A ol
(B) Debit what comes in and credit (B) 3T o %] * @i w Sfae qur <A
what goes out Tt I & W 1 hige foran srar §
(C) Debit the expenses and losses and (C) M Td @ =l sfae 991 e iR wy
credit the income and gains I shiee fan s &
(D) Debit increase and credit decrease (D) gfg = sfae qur =i %I shiee
22. Will be deducted from the Capital : 22, ST ¥ TR SR
(A) Gross Profit (A) Ydd ¥
(B) Net Profit (B) s ™
(C) Gross Loss (C) Hwet g
(D) Net Loss (D) gs e
23. Preliminary Expenses are shown in the 23. Rfys =g faeer & = wfds & il
balance sheet under the head : RURISIGIES
(A) Reserve and Surplus. (A) "9 @ sifis
(B) Investment (B) TafFm
(C) Loan and Advances (C) =R TE M
(D) Miscellaneous Expenditure (D) fafay =17
24. Capital Profit is that Profit : 24, YAy TR T :
(A) Which is received from P. and L. (A) e wf e | W R
Account.
(B) Which is received by sale of Fixed - (B) S0 fordt Tmit Hufa % fosa @
Assets. ;o
(C) Which is received by sale of goods. (C) it =t & fasha q W B
(D) Which is received from any (D) S =R & et fawm @ gra i

department of the business.
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25,

26.

27.

28.

Accounting is the language of : 25.

(A) Business

(B) Books of Accounts

(C©) Accountants

(D) None of these

‘Wages of new machinery will be shown 26,

in:

(A) Wages Account

(B) Machinery Account
(C) Cash Account

(D) Expenses Account

Smgle Entry system is fit for : 27.

(A) Company
(B) For Co-operative Society
(C) For Government Institution

(D) None of the above

Which one is a Capital Expenditure ? 28.

(A) Preliminary Expenses

(B) Wages and-Salary
(C) Insurance

(D) None of above

Qe o

(A) HIEE i

(B) < T Al
(D) o & faneht =0t =

(A) weIgH @A
(B) W @ °
(C) Uwks @ H

(D) =@ @ | |

THTU YU SUFH B :
(A) FurA % fag

(B) HeHRI Hesii & fag
(C) TR Heasli & fag
O) THAFEE

frefafaa § e = ®
(A) IR =19 |
(B) 3 T Aol

©) fm

(D) I H 5 T

SPACE FOR ROUGH WORK / % &t & ferd e

0812/ MD-BDD/RCE-MA 9

Set- A



29. The balance of cash column is : 29.

(A)
(B)
©
(D)

30. The work which is

always debit
always credit
debit and credit

none of these

Accounting are :

(A)

(B)

(©)

31. If a Trial Balance does not agree, then 31.

To record the business transactions
into the Journal

To Post the business transactions
into the Ledger

To Balance the accounts opened in
the Ledger

To prepare the Profit and Loss
account and a Balance Sheet

accountant opens :

included in 30.

VP TI FI AT MR
(A) o efee
(B) &R shfee

€ fee iR wfee
(D) T & FS T

T F I A o Fd ©

(A) =UIREF SR ol el § fere

(B) =IRE SHERER 1 W et H T
h{HAT

(C) T & S Wiel T ETe 3 I Frhrer

v B Er e feafa-faeor dar
HET

1T b e 0 e 1o B F I S A E G EC L
‘@Fﬁl%:

(A) Drawing Account (A) SARIO Gl
(B) Suspense Account (B) &I @il
(C) Capital Account (C) "Fﬁ'@l‘m
(D) Nominal Account (D) ¥ HIA 1 Gt
' SPACE FOR ROUGH WORK / % & & o swig
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32. The cash book records : 4 32. ﬁ?‘éﬂ'ﬁﬂo‘ﬁ T s ®

(A) Al cash receipts - (A) Tt Ty wiftat

(B) _Auashﬁy;;gg; o _ - 6 Toft aao-aTwr; -
(C) All cash receipts and payments (C) =t g mﬁa?ﬁqa YT
(D) None of these (D) &8 | % T

33. According to cost concept that the assets 33. Mm@ WW%W m%ﬁ?ﬂw

are always valued at : 1 STt ®

(A) Market Price . (A). TN T

(B) Purchase Price | (B) I A

(C) Current Price | (C) iAo
(D) None ofabove ' (D) S § B 7o

34. The "Rent paid to Ram’ will not be 34, 'UW %! fortrn g’ & &t e stoom

opened :
(A) Ram's Account (A) TH & T@ET

(B) Cash Account (B) % wrEr-

(C) Rent Account” ” (C) o S

(D) None of these Ce e (D). e | W T

SPACE FOR ROUGH WORK / T & & o s
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35.

+ {A) Capital Nature only

The Receipts and Payments account  35.

records receipts and payments of :

I W& WAH @i ol T A s
sffiad wLar

(A) Fohqstuysfaamst

(B) Revenue Nature only

(C) Both Capital and Revenue Nature

(B) Tk s ypfa I
(C) st 3R s 1 yehfa It

(D) None of these (D) T | ®iE T
36. Purchase of Assets for cash : 36. Huft 1 Ths H 9 :
(A) Decreases total liabilities (A) FA IS T
(B) Total assets remains unchanged (B) oo wHufar stafafda wdt ¥
(C) Increases total liabilities (C) P TS F5d &
(D) Decreases total assets (D) P geafal gedt §
37. Accounting Standard Board are formed  37. WRd ¥ WW®A YHT SIS H TS Hal Rl
in India in : Tar?
(A) Year 1972 (A) 911972
(B) Year 1977 (B) w1 1977
(C) Year 1956 (C) W1 1956
.(D) Year 1932 (D) §1.1932
' SPACE FOR ROUGH WORK / 1% &rd & fodl g
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38.

39.

40.

According to Full Disclosure Principle :

(A)
(B)

(©)

(D)

Interest on Capital is : 39.

(A)

(B)

©

(D)

Interest on Drawing is recorded : 40,

(4)

(B)

©

(D)

All accounts should be maintained

honestly =

All important information should be
included in accounts

All account should be prepared
immediately

Accounts should be prepared
carefully

Gains for the business
Loss for the business
Expenses for the business

All of these

Debit side of P/L Adjustment
Account

Credit side of P/L Adjustment
Account

Debit side of P/L Account

Liabilities side of Balance Sheet

38.

ol SRR fagia % SR

(A) Tl o TR ¥ AR ford W e

(B) W ¥ |t wewqul gen wiiwfea
RIRCHEL

(C) wft Em ¥y AR fipe W wfen

(D) TR WEHFIE T ST =T

ISt o = B
(A) HIEE H AT
(B) =A™ w1 Eh
(C) =aa9E & =™
(D) 3 asft

ST I AT T Tl &

(A) -l fafriem amam & 3fae va

(B) wmy-=IH fafrem @ & Hfee vy
H

(C) wr9-=I @ & e vg
(D) Toar <+ <ifae vy o
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41. According to ____thebook which  41.

contains a‘classified and ‘permanent
record of all the transaction of a business
—lsfalled—a—ledge;-.—

% IR 'og 7w e 1w

z*sarrméfmﬁﬁt{mavﬁﬁamwﬁmn

foran s &, @ e seaa g

(A) J.R. Batliboi
(B) L.C. Croper
(©) RN Antlloney

(D) Smith and Ashburne

42, Balance of Personal Accounts will be 42,

shown :
(A) In Trading Account
(B) In Profit and Loss Account |

(C) In Trading and Profit and Loss
AJc ‘

(D) In Balance She.et’

43. With the object to promote sales the  43.

customer are allowed
(A) Cash discount .

(B) Cash and Trade discount

(A) SR, SR

(B) TaLH. HIW

(©) SR, T

(D) Tt T Tore

e @l & ey (W) = I
B ;

(A) SR @ ﬁ
(B) ) Y- e H

(C) =R T& Tr-=if T §

(D) fagd

Wﬁﬁﬁﬁm%mmﬁﬁm

(A) TR ST

(B) e Ud A Sz

(C) Trade discount © aquTﬁiF ST
(D) Loan — (D) == ;
SPACE FOR ROUGH WORK / 1% &4 & fod W'
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44.

————(A)—Capital Expenditure

45.

46.

Expenses on repairs of the old office

furniture is :

Revenue Expenditure

(B)
Deferred Revenue Expenditure

©

(D) Capital and Revenue both

Meaning of holding company is :
(A) which is making formula.

(B) which is holding any subsidiary

company.
(C) which is issued share capital.

(D) which is protect other company.

Which column’s balance are not
calculated in triple columnar cash book ?

(A) Cash column

Bank column

(B)
Discount column

©)

(D) None of these

44.

45.

46.

FHEeT I FATL T HOHG G §

— ® Tmem

(B) 3WTH =4
(C) sreufi W =g

(D) YsiiTa wa ST S

AU FE T ST T
(A) @ﬁa;ranﬁ%n
(B) Toust #1E Tems FUH! 2|

(C) < e Yot Fifer et R
(D) N T HEGT HY & B

@ @l arelt Ihe R H W WY A A
T fhTeT ST § 2

(A) THg w9
(B) & W
(C) =& &

(D) T | FE Tl

SPACE FOR ROUGH WORK / 1% &td & fod g
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47. Bank recdhéiliétion statement is :

(A) Account
(B) Subsidiary Books
(C) List

- (D) Statement"

48.- Which is not a current Asset ?
(A) Debtors
) -(B) - Bills Receivable
(C) Stock

(D) Goodwill

49. The sub-division of goods account is :

(A) Machinery Account
(B) Capital Account
(©) Purchase Account

(D) Cash Account

47.

480v‘

49.

(A) @

(B) URHEH: TKIH
(©) =
(D) feery

forer & e wafa & 2
(A) TR

(B) WA foum
(C) why |

(D) wfa

& 91 A G @ Su-faam R

(A) A @ '«

®) fshEm
© wawm

(D) . Vs @

SPACE FOR ROUGH WORK / T% &/ & fodl W
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50. Which type of transactions are not

recorded in cash book ?

(A)
(B
(©)
(D)

Cash transaction
Credit transaction
Cash and credit both

None of these

51. In which method of Joint Venture
Accounting Memorandum Joint Venture

Account are maintained ?

(A)

(B)

©)

(D)

To maintain all accounts of Joint
Venture in Head Office.

To maintain all accounts of Joint
Venture in the books of one
co-venture only.

To maintain other Co-ventures
accounts and Joint - Venture
accounts in the books of

Co-venturer.

To maintain Personal account of the
other Co-venturer in the books of
all Co-venturers.

52. Which of the following statement is
true ?

(4)

(B)
©

(D)

Only one venture bears the risk.

Only one venture can sell the goods.
Only one venture can purchase the
goods act applies.

In Joint Venture provisions of
partnership.

50. maﬁﬁﬁa@éﬁ—éﬂﬁﬁ@aﬁ%? ‘

(A) Hg -

—(B) 9UR oH-7

©
(D)

6 F YR I
T 9 g T

51. §IW SUHY @R H AuRven §gw SuHy
@ feg fafy o wer smar €2

(A)

(B)

©)

(D)

TgH IUHA F N A w1 guE
FHIATd H W@ ST

G TR % gt Sl 1 e T
He-Hredl =t el B T 5|

TS, TE-TeEt g AR g o
T TE-URMEE ¥ 99 9w Wy
IUHH TGN W S |

IR 9g-9Rd & T § Fae
3T TE-AIRfaEl w1 e @ S |

522 fd s agy?

(4)

(B)
©)

(D)

FA TH & IUHH SET g5 @
7

FHTT T STHA I I ol T
T SUGHH! § ATE I 5h T el B

WY Ged ¥ UERR sifufem ¥
9 AR B ¥
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53. Goods lost by fire ¥ 1,500, claim accepted ~ 53. ¥ 1,500 < HIet 31 § T gov, siwn et
by Insurance Co. is ¥ 500. Which are AT 500 % T I WS & MR pec |
recorded in trading account ? 1 Yee TR stem ?

- TA)_?‘ w0 @y zis0
(B) X500 (B) T 500
(©) 1,000 (€ X 1,000
(D) ¥ 2,000 (D) ¥ 2,000

54. Maximum number of partners in a 54, @ﬁﬁ”ﬁﬁ@ﬂﬂ?ﬁﬁmﬂﬁ SfeeRan
Manufacturing Partnership Firm : e fepat & wehdl § 2
(A) 2 (A) 2
(B) 10 (B) 10
(C) No limit (©) =S i T
(D) 20 (D) 20

55. Accounting system are adopted by  55. TR-=aiftw Hegell 9 99 saf dammd
Non-trading organisation and I JUTRH ST € :
professional individual are : '

(A) Single Entry System (A) FHsq @ Yol
(B) Double Entry System (B) <r®Y @ ot
(C) Mixed Entry System (C) fufya oren woreht
(D) Cash System (D) V=T yoIedt
SPACE FOR ROUGH WORK / T® & & o g
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56. Balances of Personal Accounts will be 56.

shown

(A) in Trading Account

(B) in Profit and Loss Account

(C) in Trading and Profit and Loss
Account

(D) in Balance Sheet

57. In the absence of Partnership deed 57.

interest on capital is given :
(A) 6% per annum

(B) 9% per annum

(C) by any rate

(D) by no rate

58. Which account of the following will be 58.

credited on giving of goods in donation ?
(A) Sales Account

(B) Purchase Account

(C) Donation Account

(D) Cash Account

ST @l % ST 7 350 B

(B) wny-gI wrar

(C) =R wE ar9-=If @ §

(D) fazerd

TR THE % o1 & gsit W s e
SR

(A) 6% oI

(B) 9% @M

(C) Tt st
(D) Toret ot R -

e 9 H feu oM R Fre § § @ O o
|1, B ?

(A) Taska
(B) A W@
(C) gF v
(D) A% I

SPACE FOR ROUGH WORK / % &1d & ol wie
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59. Mea}ning of Asset is : 59.” G T S ©
(A) Liabilities — Capital | (A) <ifaa—gsit
- ;) _Ass;+;pi; - ;3) _Wg+% -
(C) Liabilities + Capital (C) wfaE+ei
(D) Capital — Drawings (D) ﬁ:\?ﬁ—- 3Rl
60. Excess of liabilities over Assets is called : 60. THfaal R Il 1 ey Feam ©
(A) Creditor (A) TIER
(B) Profit (B) <v
(©) Capital © Th
(D) Goodwill (D) ®fa
61. Trial Balance is a : 61. TR E:
(A) Journal (A) TS
(B) Nominal Account (B) sifufea @m
(C) List of Balance (C) 9 =t =
(D) Personal Account (D) =afgama @
SPACE FOR ROUGH WORK / T &td & fordt srie
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62.

63.

64.

A large amount spent on special
advertisement is :

(A) Capital Expenditure

(B)

(C) Revenue Loss

Revenue Expenditure

(D) Deferred Revenue Expenditure

A, B and C decided to dissolve their
Partnership firm. They have ¥ 50,000 as
surplus after making the payments of
outside liabilities and partners loan and
capital. They will distribute the surplus
amount :

(A) in their capital ratio
(B)
©

in their profit/L sharing ratio
equally

(D) none of these

Object of preparing Trial balance is :
4)

(B)

To know accuracy of accounts

To know the Financial Position of
business

To know profit or loss

To know arithmetical accuracy of
accounts

62.

63.

64.

ol w4 H o o fade femmam = ¥

T W 1 B —

(B) ST =HF
(C) rma =iiA

(D) TR I =g

A, B 3R C 1ot gl v & v W
fofa ot € for omedt <ifall, wdier gra fRu
T RN, TN ST GSit T YA B & 15
I 91 50,000 I o= &1 3 A9 it vy
YA A

A9 gSft % s o
Y/ E % ST B

(A)
(B)
(C) RER-RTER
(D) &9 @ g T

TS T FIQUL:
(A)

(B)

Tl ! Y I HAT
U # faxitg feafa I s

Y B 1A H

©

(D)

SPACE FOR ROUGH WORK / T® &1 & o <rrg
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65. Bank reconciliation statement ﬁrepared 65. < gAY faaver GuR frar s ¥
by :
(A) By Customer Ay e aid
(B) By Bank (B) %@
(C) By Debtor (C) < ER g
(D) By Creditor (D) WTER M
66. Account are maintained in single entry 66. THA gfafte guel % siavid o W W ¥
system :
(A) Nominal and Real Accounts (A) THAE TE ardfa® e
(B) Cash boék and Personal Accounts (B) U TH% T8 AR o
(C) Nominal and Personal Accounts (C) M Td AfFTd o
(D) All Accounts (D) Wt YR % o
67. Which one of the following International 67. 'HgW IuHA ¥ fea w1 foxiw wfee’ &
Accounting Standard is for Financial foT s Sraieh 9 i | § 2
Reporting of interest in Joint Venture ?
(A) IAS-29 (A) IAS-29
(B) IAS-30 (B) IAS-30
(©) IAS-31 (©) IAS-31
(D) IAS-32 (D) IAS-32
SPACE FOR ROUGH WORK / 1% &1 & foil s
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68.

69.

70.

71.

Revenue is generally recognised when :

(A) Production is completed

(B) Order for goods is received —————— (By S I T ORT WG B e

(C) Goods are delivered
(D) Cash is received

A Customer’s cheque returned
dishonoured shall be recorded in cash
book at :

(A) Debitside of the bank column of the
cash book '
Credit side of the bank column of
the cash book

Debit side of cash column of the

cash book

Credit side of the cash column of
the cash book

(B)
©)

(D)

Prepaid expenses appearing in the Trial

Balance will figure in :
(A)
(B)
©

Trading Account
Profit and Loss Account

Trading Account and Profit and
Loss A/c g

(D) Balance Sheet

Profit and Loss Account shows :
(A) Net Profit

(B) NetLoss

(C) Net Profit or Net Loss

(D) Net Profit and Net Loss

68. AT SFTH 1 o 36 T A ST §

69.

70.

71.

EEI
(A) SR ol B §

(C) 1 9% bl Yyarit <t S &
(D) 19 I H1 4T YT Bl &

TF WEF * IRRG FFT T aur ¥ g
WAl M I F1 AEl Vhs a8 § fFa
ST

(A) T3 = & dp @H F oz oy
(B) TS a&t % o WM F Hise g §
(C) UwS I o Uohg WA F T vy
(D) Ak & & Vb @M & hiee vy |
Tee W feen geew =g @ e e
ST .

(A) =R @ o

(B) wmv-wIf @m H

(C) =aMNR @K T -2 @ #

(D) fagr®

Y- T gt

(A) gs ™

(B) 5w

(C) T& AN A YS T
(D) Y& M9 & S w1

SPACE FOR ROUGH WORK / % % & fod e

0812/ MD-BDD/RCE-MA

23



72.  Goodwill is : 72. AR
(A) Floating Asset (A) STeuRit gefa
_ (B) Wasting Asset (B) &
(C) Fictitious Asset - (6 gﬁﬁ?ﬂﬁl— -
(D) Intangible Asset (D) od wwfa
73. Meaning of Double Entry System of Book- ~ 73. J&uier @i fg-vfafte yorett %7 o7of ¥ .
keeping is :
(A) Two entries in one book (A) T & gEw § & giafedr
(B) Two entries in one account (B) TH ¥ wi ¥ < yfafteat
(C) Entry in both sides of one (C) T & HeRR & T Yge] HI U<
transaction
(D) Entry in two personal accounts (D) < =feTa @l | gfafe
74. Which of the following accounts is 74, Tr=fafes o @ SF-w1 9 9 T ?
nominal account ?
(A) Interest Account (A) = @rdat
(B) Outstanding Interest Account (B) TG =TS @il
(C) Accrued Interest Account (C) SuifSia =t @mar
(D) Prepaid Interest Account (D) Yoed =A< @il
75. Premium received on the issue of shares 75. 39 % Fie W yors 6t i <o s
is shown in : q:
(A) Debit side of Profit and Loss (A) < BT @ & fae, g |
Account
(B) Credit side of Profit and Loss (B) <Y = W % 9L 9 o
Account
(C) Asset side of Balance Sheet (C) fag & dufa qar &
(D) Liability side of Balance Sheet (D) fag & <foa var d
SPACE FOR ROUGH WORK / TF &/ & fol s
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76.

77.

78.

(2) COMPUTER RELATED
KNOWLEDGE

Landscape is :
(A) A font style
(B)
©)

(D)

Paper size
Page layout

Page orientation

A collection of unprocessed items are :
(A) Information
(B) Data

(C) Memory

(D) Report

Programs that are automatically loaded
and operated as a part of browser are
known as :

(A) Utlities
(B)
©

(D)

Plug-ins
Widgets

add-ons

76.

77.

78.

Auehy §

(A) A font style
(B)
(©)

(D)

Paper size
Page layout

Page orientation

YUt Tegstl 1 WUE ©
(A) Information

(B) Data
(C©) Memory

(D) Report

IREL HT 97 & 9 § S Program,
automatic load 3R operate BT B, 39
. %®d R

(A) Utilities
(B)

(©) Widgets

Plug-ins

(D) add-ons

0812/MD-BDD/RCE-MA
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79.  Which of the following is program group ? 79. = d oF vt & R ?
(A) ~ Accessories (A) Accessories
(B) Paint (B) Paint N
(C) Word (C) Word
(D) Al of above (D) ST |t
80. Images included in many softwares titles ~ 80. ¥gd ¥ WS IEA & Iqld M oA
are called : Image E FEd B I
(A) Clip art (A) Clip art
(B) Popups (B) Popups
(©) .jpg files (©) jpg files
(D) .tiff files (D) .tff files
81. Which key is used in combination with ~ 81. ¥ key TRA TR kéy ¥ ury fafire
another key to perform a specific task ? Fr Y A F forg o wmar 7 2
(A) Function (A) Function
(B) Spacebar (B) Spacebar
(C) Arrow (C) Arrow
(D) Control (D) Control
SPACE FOR ROUGH WORK / T% &1 & o sve
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82.

83.

84.

85.

are used in denial of service 82.

attacks, typically against targeted

websites.

(A Worm

(B)
©
(D)

The server on the Internet is also known

as a:
(A)
(B)
(©)
(D)

Which of the following is a medium of

Zombie
Virus

Trojan Horse

83.

Hub
Host
Gateway

Repeater

84.

output ?

(4)
(B)
©
(D)

In which view background color will not

Scanner
Mouse
Printer

Keyboard

85.

be visible ?

(8)
(B)
©)
(D)

Print Layout View
Web Layout View
Print Preview

Reading View

Taf¥rse 9 @ 790 websites T el 1 FATRY
(denial of service) % feTq
T AAE )
(A)
(B)
©
(D)

Worm
Zombie
Virus

Trojan Horse

gZe § galt =l 3R ford &9 & ST ST R ?

(A) Hub
(B)
©)

(D)

Host
Gateway

Repeater

A H @ STy H WA ¥ 2

(A)
(B)
©
(D)

Scanner
Mouse
Printer

Keyboard

%9 view H background color 7@ e
€7

(A)
(B)
©)
(D)

Print Layout View
Web Layout View
Print Preview

Reading View

0812/MD-BDD/RCE-MA
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(3) HINDI LANGUAGE / 91. ‘'SHA Te e fean’ W O H wE @
HTET R 82
) (A) S AHEIgS
86. ‘Scord w1 Hiu fa=e ¥ : (B) TTENH
(A) SO+ (C) qwITas
(B) S+ (D) SXmefe
© 3S+79
(D) s%+ 92. TR F Y fra o €2
87, Freffan § & guE T : (4) @
(A) e A
® 3 (© =
© Q (D) =R
(D) 3
93. ‘wHolel IUST BT R 31 §
88, YA YR T : (A) wia@m
(A) Aificm (B) G<w@
(B) T () gErE
©) g (D) 3UsH g
(D) o @t
94, YAM wt ghe ¥ U F fran 92 fFY =
89. ‘sTard’ feRm s 1 W ¥ 2 T ¥
(A) ST (A) @
© gom ® ™
o) 4 (C) U=
(D) ®:
90. BT & Fdeh w0 H fepart AEMd Bt
| ?;q]g o 95. dfga FMT?
(A) =R (A)  Hiewo
(B) TS (B) T
(C) @ ©) T
(D) drT® | (D) fomam
SPACE FOR ROUGH WORK / % &Td & e sg
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96.

— anmexampleof ©

97.

98.

99.

100.

(4) ENGLISH LANGUAGE /
STUSTT WTST

The expression ‘waste not, want not’ is

(A) Idiom
(B) Proverb
(C) Mlusion

(D) None of the above

Which of the following is not a synonym
of the word ‘satisfaction” ?
(A) Contentment

(B) Pride
(C) Fulfilment
(D) Bruise

I was pleasantly surprised by my exam
results. B

In the above sentence the underlined
word ‘ pleasantly ’ is an/a :

(A) Adverb

(B) Adjective
(C) Verb

(D) Conjunction

Choose the correctly spelled word
according to British English) :

(

(A) Misery
(B) Mision
(C) Fullfiling
(D) Conven

‘Let us have no buts’ he said firmly. “You
are coming.’
In the above sentence the word ‘but’ isa:

(A) Noun

(B) Conjunction
(C) Preposition
(D) Adverb

101.

102.

103.

104.

105.

Select the correct one-word substitute for
‘one who walks in one’s sleep’.

(A) Agnostic
(B) Grouse

(C) Neomatic
(D) Somnambulist

Choose the most appropriate antorrym for
the word ‘Latent’.

(A) Hidden

(B) Forbidding

(C) Obvious

(D) Artificial

The window looked out the
terrace.

Fill in the blank with most appropriate
preposition.

(A) on

(B) in

(C) onto

(D) at

You get paid by _ hour.
Fill in the blank with most appropriate

article.

(A) a
(B) an
(C) the

(D) None of the above

Choose the exact meaning of the idiom-
“at one’s wit's end.’

(A) To be very frightened

(B) To be aware of what is happening
around you and ready to think and
act quickly.

(C) To be so worried by a problem that
you do not know what to do next.

(D) To minimize expenses.

SPACE FOR ROUGH WORK / T% & & f&t sr°1g
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(5} MATHEMATICS

(5) T

106. A dishonest shopkeeper buys an article ~ 106. T A WW 9 Eh;f ERES o
for 5% less than its value and sells it for P! HIHA & 5% BT HiAd H @ilam%m‘
5% more than its value. His gain qHT AT 5% i wiad | Afuw |
percentage is : SO R 1 1 gTa ey g
(A) 5% (A) 5%

(B) 10.25% (B) 10.25%
(C) 12.5% (C) 12.5%
(D) 12% (D) 12%

107. The can contain a mixture of two liquids 107. T FH Q W Wﬁ A 3R B %1 fagm
A and B in the ratio 7 : 5, when 9 liters of 7:5% 3T{UM ﬁ.%l S fhgm 9 g ferex
mixture are drawn off and can is field fagor fHenterst B # fereran s %.'fﬁ A 3ﬁ'{B
with B the ratio of A and B becomes 7 : 9. KAL) 7:98 W ¥ @ YRy H FH
How many liters of liquid A was WA e A Y A fRat off ?
contained by the can initially ?

(A) 12 | (A) 12
® 15 ® 15
<G 21 () 21
(D) 30 (D) 30
108. In AABC, if ZA=80° and AB=AC, then ~ 108. AABC ®, af& ZA=80° 741 AB=AC,
LA
%+AB+4C= ?la—z——+LB+£C=
(A) 80° (A) 80°
(B) 140° (B) 140°
(G 90° () 90°
(D) 180° (D) 180°
SPACE FOR ROUGH WORK / T% & & & srg
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109. An empty cylindrical container of radius 109. U @it SR s forgent fsan 7 91, qen

7 m and height 10 m is covered by a , bﬁ'lﬁlo T, %@Wﬁfﬁﬂﬁﬁﬁﬂ
conical cap of radius 10.5 m and height 10:5 1. 7o FawE 9 . ¥ @ & R, @ i i
~ 9m. The volume of the air trapped inside ¥ &7 T STAAT & —
is
e

S O
(A) 1039.5 m3 (A) 10395 m3
(B) 21175 m3 (B) 21175 m3
(C) 5775 m3 (C) 577.5 m?
(D) 2579.5 m3 (D) 25795 m3

110. One fourth of a certainjourney is covered ~ 110. T Tf¥ra 3= o1 wah <o 25 fenefi/ = =it

at the rate of 25 km/hr, one-third at the RY ‘{Uf H %’, T-faer 30 ﬁﬁﬁ/ﬂ% C
rate of 30 km/hr and the rest at T F 991 9950 fepet/ie &t X Q, H\f'ﬂ"{“f
50 km/hr. The average speed for the BIEICIRC R o

whole journey is :

(A) 600/53 km/hr (A) 600/53 Tt/ ga

(B) 1200/53 km/hr (B) 1200/53 fe+t/ser

(C) 1800/53 km/hr (C) 1800/53 ferHt/sia

(D) 1600/53 km/hr (D) 1600/53 T/ sier

SPACE FOR ROUGH WORK / T% &1d & i srg
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111. Abhijeet purchased a cow for¥ 1250 and ~ 111. &fﬂ?ﬁ'ﬂ J T M T 1250 § @l € 1100
sold it for ¥ 1100. Then his loss percent #How €| a9 SH B Il ©
is:
(A) 11% (A) 11%
(B) 10% (B) 10%
(© 12.5% (© 12.5%
(D) 12% (D) 12%
112. A can finish a work in 24 days, Bin = 112. A freht ol &1 24 e # X W B, B
9 days and C in 12 days. B and C starts gfmHam c12fe7 ¥ Bk C o g&
the work but are forced to leave after 3 e o1 gEl W= 9, T v Ed A
3 days. The remaining work was done % g fopam e & fopan s 2
by Ain:
(A) 7 days (A) 7 fe
(B) 8 days B) 8fa
(C) 10 days ©) 10 fE
(D) 15 days (D) 15T
113. If the area of three adjacent faces are 113. Il T STFAHR S & A G Hershl
P, Q and R respectively the volume of GIHS HIAM: P, Q 3R R § @ 39 SRR
solid will be : 3 6T I BT
(A) PQR (A) PQR
(B) P2Q°R? (B) P2Q2R?
©) JPQ+QR+RP (C) JPQ+QR+RP
(D) PQR (D) JPQR
SPACE FOR ROUGH WORK / T% & & fo& <
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114. A circle is circumscribed around a square 114. T& 37 ABCD & =R 3R TF 99 W e

i 2
ABCD. The area of one of the four shaded AR Tk SHEIGR YT T @icﬁﬁ 15 %,
———— e T b s
portion is equal to 7 The radius of the CIEEIRES K
circle is :
/ A7 B
D C
A) 1
B) 2 ' (B) 2
© 2 © 2
(D) 242 D) 22

115. A part of X 38,800 is lent out at 6% per  115. T 38,800 1 Th UM 6% T: W W A

six months. The rest of the amount is lent JUR 1 T T I ST &=} AT Ay 5%
out at 5% per annum after one year. The e 1 X A TR ez T gom i &
ratio of interest after 3 years from the time - R R WM % T o oy 9 aft %
when first amount was lent. outis 5 : 4. SIS 1 ST 52 4 T @ 5% JUR & T
Then the second part that was lent out at FGNRUR RS

5% is :

(A) ¥ 26,600 (A) ¥ 26,600

(B) ¥ 28,800 (B) ¥ 28,800

(© 27,500 (©) T 27,500

(D) ¥ 28,000 . (D) ¥ 28,000

SPACE FOR ROUGH WORK / T% &g % f&d Sg
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(6) GENERAL KNOWLEDGE

(6) |TET= AT

116, Who has distinguished among  116. fFTA ' sTervasar-foia & fefa’ 1 wgem

117.

118.

119.

satisfaction, pain and pleasure to reach
wantless state ?

(A) Marshall

(B) J.K. Mehta

(©)
(D)

Paul Samuelson
None of these

Who of the following was the Defence

‘Minister in the Interim Government under

Jawaharlal Nehru during
1946-47 ?

(A) Vallabh Bhai Patel

(B) Sardar Baldev Singh

(©) Dr. John Mathai

(D) Liyaqat Ali Khan

In which bill the President can refuse to
sign ?

() Government Bill

(if) Finance Bill

(i) Constitution Amendment Bill
(iv) Money Bill

4y @

(B @ @

© @ G

D) @O @ @) (iv)

Mirage is an incident cause by :
(A) Reflection

(B) Refraction

(C) Total Internal Reflection
(D) Diffraction

117.

118.

¥ foau ‘ggfie’, ‘e’ @ ‘ame # X
frm 82

(A) TRiA

(B) .3, Hea
(C) i Sxgesd
(D) T8 | FE T

1946-47 § SRS Yow ¥ o sfafy
WHR § st fFefafEa A awm 92

(A) oIAH T T
(B) WER seied e
(C) . i uR

(D) Toramra owedht @t

fora fadees  Tgafa T=meR F ¥ THR
FURAE?
() TR Hoge
i) Toa fades
dfgum weiiyT fadas
) o fadas
A) ()
(@) (i)
@) @) ()
(

) () @) (W)

119. T FfEeh T He § Foe wror g

(A) &
(B) STgerEd
(C€) o el Ted
(D) foada

SPACE FOR ROUGH WORK / 7% & & & g

0812/MD-BDD/RCE-MA



120. Which of the following pair (Fairs of this
state and their dates) is correctly
matched ?

(A) Mahadev Ghat Fair - Kartik

Purnima
(B) Khallari Fair - Magh Purnima
(C) Girodpuri Fair - Paush Purnima
(D) Turturia Fair - Chaitra Purnima

121. Supposing  President  Proclaims
~Constitutional Crises in a State, in the
meanwhile Lok Sabha dissolves, what will

be happened ?

(i) Proclaimation of Constitutional
Crises must be approved by the
Parliament.

(i) As the Lok Sabha is dissolved, no
Constitutional Crises can be
continued.

(iii) Rajya Sabha can approve the
Proclaimation of Constitutional
Crises to continue.

(iv) After new election of Lok Sabha
within a period of two months Lok
Sabha’s approval. is essential to
continue the Proclaimation.

(v) After new election of Lok Sabha
from the date of first meeting of Lok
Sabha within Thirty days the
approval of Lok Sabha is essential
to continue the Proclaimation.

@A) @ @ )

B @ @

© @ (@) @v)

O O @

120. Frfafea 9 & St S (39 9 & B9
e faferal) gafea R?
(A) TERE HE HE -_a?{fq"g;.wiﬁ:j:n_ I
(B) WewIRl Tl - Are qffa
(C) fregd #em - g gfef
D) mﬁmﬁwf%@m

121. M witfoe, wgafa A fadt v o wifguofs
Ghe i TN B, TH 9 Apa faufe

A, smEnEm?

() wifqufTer Hehe HI HTW W T H
v:ﬂq;ﬁfarawm%z

@) fF e foaafa @ T ¥, ewwa
TifefTeh Hehe S el TaT T wehall |

(i) Sifaenfes Hehe i soon H W W@
%mmmwﬁ?ﬁréaﬁ%i

(iv) SRR ¥ Ta frated F AR S Te
J7Afy & iR ST W WA %
fc‘fqvﬁammﬁ@ﬁm STEVIF R |

(v) <REYl % 9 fraien & oI disa
Y Yl S W A foi o e siwon
& SR T % fo crera it wWiepfa
AT T

@ 6 @ @)
B @) @) )
© @) @) @)
O 6 G ©
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122. Who was awarded Gyanpeeth Award in ~ 122. e H fohaeh! IAYIS TR 9T B3 ?

Bangla ?

(A)Raghuveer Choudhari——— (A)— THER =ied

(B) Shankha Ghosh (B) Y@

(C) . Balchand Nemade (C) 9erE=< S
(D) None of above (D) W= H HIE e

123. Which of the following is the biggest ~ 123. T4 w9 %1 Yol S TLF FTH Frefafea

National Park of this state ? HIRAAR?

(A) Indravati (A)

(B) Kanger Valley (B) RIS

(C) Guru Ghasidas (C) e Tt

(D) Kuturu (D) 3s¥®

124. Solar eclipse occur when : 124. G 750 B © S ¢

(A) the earth is between the sun and the (A) get CRRCRCE ¥ e o 9§
moon

(B) the moon is between the sun and (B) ==Hl T wd gt % Hem en S ®
the earth

(C) the sunis between the earth and the (C) g4 geft @ =gl & T 37 SR ©
moon

(D) none of the above (D) SS9l T { B TRl
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125. Which is essential element of human

wants ?

(A) Effective desire

(B) Sufficient resources to fulfil it
(C) Willingness to spend

(D) Al the above

126. Stephen William Hawking was a :

(A) English theoretical physicist and
cosmologist
and

(B) American cosmologist

theoretical physicist

(©) German theoretical physicist and
cosmologist

(D) None of above

127. No. of Islands in India is :

(A) 247
(B) 374
(C) 274

(D) 347

125.

TS STEEHAA % HATF T Bt
¥?

(A) wweqiget

126.

127.

(B) 39 YU w % vaiw gurme
(C) =9 HA Ht T

(D) Sogw wft

e fafeay sifsT & .

(A) W dgifs s st qo
et

(B) emaftww dgife wifaes weht
%T@la\‘h:\‘ﬂe

© wH7 Sgifas vifes wrsh g
HiTATE

(D) U § T &

K # o g €2
(A) 247
(B) 374
(C) 274

(D) 347

SPACE FOR ROUGH WORK / T% &g & ol g

0812/MD-BDD/RCE-MA

Set- A



. the

128. Which - of following pair  128. Frefafea® & s < (fofen st
(assassination of British officials and Y & W SHITahRt) FATA T © 2
revolutionaries) is mnot correctly
matched 7
(A) Plague Commissioner Rand and (A) T HTR T iR T - I 9y
Ayerst - Chapekar Brothers

(B) Curzon Willie - Madanlal Dhingra (B) hsiv AE — WeA T

(C) Mr. Saunders - Bhagat Singh, () o wisd - wa fifs, TR Sik e1eTg
Rajguru and Azad

(D) Mr. Steven, District Magistrate of (D) oo & foen Aoee . e - @@
Tippera - Surya Sen e

129. What will be effect on total utility when 129. & dHiq SUEf T2 & 1 A e
marginal utility becomes zero ? SYATTAT TR A YT B 2 '
(A) Total utility declines. (A) T YT T T R
(B) Total utility increases. (B) =4 scrq‘rﬁm g ST
(C) Total utility is maximum. (C) = IyAfiTar SAferehan 8 SR 21
(D) Total utility becomes negative. (D) $a ITATAT FROMHS & SR © )

SPACE FOR ROUGH WORK / % &TH & {&d g
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130. What is the formula to calculate the value 130. TgUfd & I & Hed & faymay & gew
of a vote of member of the Legislative % Tl 1 Yo T AT T YT 182

Assembly in the context of the election of
President ?

?opulation of the State T B STEE
(A)  The total no. of members of (A fayrmar ¥ ge=
Legislative Assembly = Fo den
. . - Poplulatlofn ;)f th:1 State - R g
(B) e total no. of elected members (B) S S
of Legislative Assembly )
' o FA e
TS i SHEE
Population of the State C - -+ 1000
+ 1000 ©) g Fraffag
(©) The total no. of elected fa ) m & )
members of Legislative qgE A "
Assembly
(D) Population of the State x 1000 (D) T i} SHE x 1000
The total no. of elected faurTaaT & fraff
members of Legislative TS Hl FA dE

Assembly

131. Who of the following litterateur of this 131. "{Q\‘_”T TR % AEh T T & Frefofea

state was the author of ‘Khoob H & Y wfeersr 92
Tamasha” ?

(A) Baldev Prasad Mishra (A) weRd THE fug
(B) Gopal Mishra ' (B) e fag

(C©) Makhan Mishra (C) wrEH fag

(D) Babu Rewa Ram (D) & &1 T
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132. Which of the following pair (session of 132. Trafafeg § @ S G (YR T2
Indian National Congress and its G 1 AT T T STeAE) gafe

President) is correctly matched ? ®7?

(A) 1938 Haripura - Jawaharlal Nehru (A) 1938 =g = STameem Gida

(B) 1940 Ramgarh - Dr. Rajendra (B) 1940 TG - El. Tols: JEIG
Prasad

(C) 1946 Meerut - ].B. Kriplani (C) 1946 TS - Sl FIEAH!

(D) 1947 Delhi - Abul Kalam Azad (D) 1947 ﬁ«—vﬁ ~ 39 HAM NG
133. 1 gm fat release | energy. 133. T UM 3§ A ferat ol m?ﬁ W ¥ 2

(A) 5k Cal , | (A) 5k Cal

(B) 7k Cal (B) 7k Cal

(C) 10k Cal (©) 10k Cal

(D) 9k Cal | (D) 9k Cal

134. Who had defined, economics as science 134 srefere 1 ¢ wifiaan a1 e w1 e

of scarcity ? ) fore wRenfaa foen e ?
(A) Adam Smith (A) TeH fEg

(B) Marshall | (B) W

(C) Robbins (C) Uls=

(D) JK. Mehta (D) .. Tl
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135. Who founded ‘Dudhadhari Math’ in the 135, 3 To% ot Toeit & gemerd 7 o6t T

capital of this state ? TR & ?

(A) Laxmi Narayfl Dﬁ (A e 421 A
N (B) Ramdas (B) THHE

(C) Balbhadra Das (C) <&vE <™

(D) Dharmdas (D) wHE™

136. For which of the following Gandhiji ~ 136. Fr=fafaa ¥ ¥ frad fou mihsh ¥ wiwr

admitted that it was his ‘mistake of o o fop 2% STt ‘ferer & e @it
Himalayan magnitude’ ? et oft ?

(A) Satyagraha against Rowlatt Act (A) U= TR ¥ foeg vamwe

(B) Khilafat Movement (B) TEairha sTideM

(C) Non-cooperation Movement (C) 3T ST

(D) Quit India Movement (D) YA Biel AR

137. Kaktiya dynasty had ruled in this area of ~ 137. 39 T & 39 99 o F&dg 99 T W9

this state : foram o
(A) Sarguja (A) U
(B) Chhuikhadan (B) TIEIH
(C) Bastar (€ &R
(D) Jashpur (D) SR
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(A)
—B)
(©)
(D)

138. Island of Arabian Sea is : 138. 3R UPR H feo@ v 3
Aliabet (A)  feamsE
Shree Harikota (B) el
Andaman (C) seur
Nicobar (D) TreREmR
139. W TE €72

139. What is not correct ?

(i) The tenure of Legislative Assembly () TaumEw = et 5 99 B § |
is five years.

(ii) The tenure of the members of (ii) fﬂ%TH'H‘ﬂ ¥ geEl % HHEwE u"
Legislative Assembly is five years. ELRGIES

(i) The tenure of the Legislative (i) faamasT & FHEFwR w5 A I

} Assembly is counted from the date gftom skt sioon it fafer & 9 2

of declaration of election result.

(iv) The tenure of the Legislative (iv) faurasm % HEAHBE S TN GUH
Assembly is counted from the date gftwer =+t fafy § =t SR R
of first meeting.

(v) Inaby-election a member is elected (v) SU-TIE H G org ad % feg g
for five years. SR

(vi) In emergency the tenure can be (vi) STYTERIST T faumEa % g SRwe
extended by Legislative Assembly. - ¥ gf it 1wl 2!

(vii) In emergency the tenure can be (vii) STIIERIE T GOg & R HHEHA k|
extended by Parliament. gfg & <1 ghdl 2

(A) () () (v) (vii) (A @ (@) @) (vi)

(B) (@) () (v (vi) (B @) @) (v (vi)

© @ @) ) () © @ @) ) ¢

® © @ © &) O H @@ & ¢
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140. Area of India is : 140. YRT 1 ATFA T :

(A) 32,87,663 km? (A) 32,87,663 T TeaHtex
B mmseke (B _32,87,326_6111‘_%%_@21_ .
(C) 32,87,623 km? (C) 32,87,623 & foaimeR
(D) 32,87,263 km? : (D) 32,87,263 =1 fepeariet
141. Origin of Sutlej River is : 141, GAE T F1 3T A § -
(A) Dhauladhar Range (A) diamR guit
(B) Pirpanjal Range (B) iusTTer goft
(C) Rakshastal (C) TyHae
(D) Karakoram (D) HRHA
142. Ganga of South India is : 142. &9 YR =t 71W W'GTTFIT% :
(A) Kaveri (A) FRG
(B) Krishna (B) Fom
(C) Pennar | (C) R
(D) Narmada (D) ==
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143. Which of the following pair (Central
Public Sector industries in this state and

locations) is not correctly matched ?

(A)

(B)

(©)

(D)

Super Thermal Power Station -
Korba

South Eastern Coalfields Ltd. -
Bilaspur

Cement Corporation of India -
Mandhar

South Eastern Railway Wagon
Workshop - Durg

143, Frefafed § 9 =9 9@ S (38 T3 4§ R

F=T gEelTe 9F SUN TS S ©IF)
gafera & €2

(A) FR o TR T - B
(B) WY T=H wawiegy fafee -
IESIESKRS

(C) WA= widRee 3w gfedn - AieT

(D) WS S Yo & b - g

144, Match the following rivers of this state 144, T8 T3 ! Frefafed e &1 T HeTh
with their tributaries : Ffed % g gafaa S
(a) Mahanadi () Kharang (a) W () @RI
(b) Shiv‘nath (i) Kotari (b) TRy @) @O
() Arpa (ﬁ) Peri (c) | i) W
(d) Indravati (ivj Maniyari (d) wTEl (iv) wfER
(A)  (a) - (i), (b) - @), () - (), (d) - (D) (A) (a) - (i), (b) - (@v), () - (i), (d) - ()
(B) (a) - (i), (b) - (i), () - (iv), (d) - () (B) (a) - (i), (b) - (ifd), (c) - (iv), (d) - ()
©) (@) - (i), (b) - (i), (c) - (iid), (d) - (iv) (€) () - @), (b) - (i), (o) - (iii), (d) - (iv)
(D) (a)- (iv), (b) - (), (c) - (i), (d) - (i) (D) (@) - (iv), (b) - (@), (c) - (id), (d) - (iid)
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145. Which of the following is not a crypto ~ 145. T/ ¥ § &=t fre qer =& €2

currency ?
__ (A) Ethereum Gymsiicu
(B) Bitcoin B) faesieT
(C) Ripple (C) T«
(D) Lightcoin (D) egeHIE

146. In the recent election who is elected Chief 146. BT & % 9 H ARIRITS e o3t A

Minister of Nagaland ? T T4 ?

(A) Biplab Kumar Deb (A) foee AR <E
(B) Conrad Sangma (B) WIS W

(C) Neiphiu Rio (C) wg &

(D) None of above (D) S H His Tb’"T
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147. Who makes rule about the procedure of 147. €O % HIH T 1 gisrar & fowa | FEm

joint session of Parliament ? A ST R ?

(A) President (A) TgHfd

(B) Parliament - (B) HHY

*(C) President with the consultation of (C) TrwE ¥ oftert & T T Ugafda
Speaker of Lok Sabha |

(D) President with the consultation of (D) T & TfwT T TSIEEl
Speaker of Lok Sabha and the [urafa & T W wgafa

Chairman of Rajya Sabha

148. Match the following socio-religious  148. frmfafen aars-ud e 1 STk

movements with their founders : HEATqH] & Y gﬁfﬂﬁ HIfT :

(@) Dharma (i) Shivnarayan (a) g g () TR SR
Sabha Agnihotri

(b) Paramhansa () Tulsi Ram (b) TERH el (if) gorst T
Mandali

() Radha Swami (il) Radhakant Dev () TererHl W (i) THTRE <
Satsang

(d) Dev Samaj (iv) Dadoba (d) 39 ghe (iv) <R aig

Pandurang

(A) (@) - (i), (b) - @v), (0) - (i), (d) - () (A)  (a) - (i), (b) - (@), (c) - i), (d) - ()
(B) () - (i), (b) - (iv), (0) - (i), (d) - () (B) (a) - (i), (b) - (v), (c) - (i), (d) - ()
©) (@) -(@v), () - @), (© - @) (d) - @) C) (@) - (v), (b) - (i), (©) - (), (d) - (i)
(D) (@) - (@), (b) - (idd), (c) - (v), (d) - (i) (D) (a) - (i), (b) - (i), () - (), (d) - ()
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149. Xi Jing Ping is appointed President of  149. I f57 fin 5= & Tﬂg‘fﬂ ﬁﬂﬁ\"f ferw a

China for :
(A) thenmexttrm  (A) wRMedEEHfm
. _(; ;tl:nextﬁve year (B) 1Ty Ui =y ¥ fag
\ (C) for no limit to the tenure (C) rerTer T i Hrm T
(D) None of above (D) SW= F *E &

150. Human milk contains sugar per 100 ml : 150. WY % 39 ¥ T&F 100 ml & WEHR H

Teperit AT et § 2
(A) 7gm (A) 7gm
(B) 5gm ; (B) 5gm
€ 4gm (C) 4gm
(D) 9gm (D) 9gm
~000- -000-
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SET - A

I SifRa hTA BT WA : 3.00 W } { arfaeRay 3 : 150
Time for marking answers : 3.00 Hours— | — Maximum Marks : 150
RN : 4 =
1. 39 woT-giaent ® Fret ae E

(1) @ IH e - 175

(2) IR TE GoEl - 76-85

(3) Te< v - 86-95

(4)  STUS v - 96-105

(5) T - 106-115

(6) WA IH © - 116-150

T U 1 37 HE 1 Fe 150 TH FH AEr )

e ¥ I, @ T OMR SR-3T (STR-He) R sifwa sifsat

TTeTq IO SifRd H W 1/4 ek HR SE 1

fiFet off TRE % HAIHA A T T T e B H AN A B

OMR SR-YZ (SGR-¥e) 1 T #<a T Ut i sramar 71 /=R e 9 e <
S tire 71 facmEe a1 vg SR R Ferasd o8 T € S |

Sh a9

Note :

1.  This Question Booklet consists of Parts namely :

(1) Knowledge Relating Account " 1-75

(2) Computer Related Knowledge - 76-85

(3) Hindi Language - 86-95

(4) English Language - - 96-105

(5) Mathematics , - 106-115

(6) General Knowledge - 116-150
Each question carries 1 mark. All 150 questions are compulsory.
Indicate your answers on the OMR Answer-Sheet provided.

1/4 mark will be deducted for each wrong Answer.

Use of any type of calculator or log table and mobile phone is prohibited.

While using OMR Answer-Sheet care should be taken so that the Answer-Sheet does not get
torn or spoiled due to folds and wrinkles.

Jla SRS
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